R - MATH 300
Name: /q' V&LM”*G Quiz 7 September 12, 2024

1. This problem concerns lists made from the five digits 1, 2, 3, 4, 5.
(a) How many length-4 lists are there if repetition is not allowed?

TTIT] A 5432= (120 |

FYyz2

(b) How many length-4 lists are there if repetition is allowed?
A \ Ans 5555 =
- -
59558
(¢) How many length-4 lists are there if repetition is allowed, and the first two entries are odd?

(1L Ans 2355 = [225,

2 3 5

(d) How many length-4 lists are there if repetition is not allowed, and the first two entries odd?

T Aes 3232 = 3éf

3273 %

2. Five cards are dealt off of a shuffled 52-card deck and lined up in a row.

(a) How many such 5-card lineups are there in which all five cards have the same color?
(i.e., all red, or all black) : — ;
Let X be Hhe set ofF F-cond {meuF“

hoving ol conds The same Colav,

be The oll-ved linevps
,@ljf';(é he the M -~ black P/,‘Aeups,

Amsw&_ s ’Xl-‘-‘: [)(‘.I'f*()(&( =

2:15.24.23.22 % 2615242822 | =15,787,200

(b) How many such 5-card lineups are there in which not all five have the same color?

L be The cof of ald possible S—cand fraevps.
{:-g X be the same Setf as i poat (@) above .

By the subtrecef on '\QV'INCI(J(.&{J ouv ansSwer S
(W'-T“U-"(Y( = 52:50:50- 4949 - 9\(26'25‘26“23,22)\

= 296,088,000
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= 15,787,200
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2, @ MATH 300
Name: 7?' M Quiz 7 @ September 12, 2024

1. This problem conberns lists made from the ﬁvé symbols C, O, U, N, T.

(a) How many length-4 lists are there if repetition is allowed?

T Ans Sl/ = /Z_E] |

.5 5 5 5 .

- (b) How many length-4 lists are there if repetition is not allowed?

TTL des 5752 =[120/

r Y 3%

(c) How many length-4 lists are fhere if repetition is allowed, and the first two entries are vowels?
VT 110 Ave. 2:2:55 = /00
2 255

(d) How many length-4 lists are there if repetition is not allowed, and the first tWo entries are

. | | U Ans. Zf/.-?‘Z- :@

Z ' 3 Z

2.  Five cards are dealt off of a shuffled 52-card deck and lined up in a row.

(a) How many such 5-card lineups are there in which all five cards are of the same suit?

?3 e addhom P‘rmq[’ﬂ'{\eq_
the omswer 3

4.(;342-!(.10')

= 617,760
(b) How many such 5-card lineups are there in which not all five cards are of the same suit?
Leb W be the sek of all 5-cond
line ups. Lek X be The sef ot
lineups n which ‘ 5 ¢ S
have The sawe suif:

| 'B\) m Sub‘(‘racﬁér\ Pr\\ﬂCI@AD(ﬁ} our

onswen 5 tul=1xl=
£2:50:50. 494§ ~ Y1321 'ro-?) = 311,257,440
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local_rhammack
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